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Systems of Equations Christmas Tree Activity 

Directions: Solve each system of inequalities below using any method of your choice.  Then, find 
the solution on the Christmas tree.  Cut and paste the appropriate ornament over the solution.  
Color your ornaments and tree when you are done!  Show your work on a separate sheet of 
paper. 

System of Equations Ornament System of Equations Ornament 

1.  𝑦𝑦 = 1
3
𝑥𝑥 − 4 

𝑦𝑦 = −6
 

 
 
 
Solution: _________ 

 

2. 
𝑦𝑦 = −4𝑥𝑥 + 15
𝑦𝑦 = −7

2
𝑥𝑥 + 12 

 
 
 
Solution: _________ 

 

3. 2𝑥𝑥 + 𝑦𝑦 = 20
6𝑥𝑥 − 5𝑦𝑦 = 12 

 
 
 
 
Solution: _________ 

 

4. −3𝑥𝑥 − 8𝑦𝑦 = 20
−5𝑥𝑥 + 𝑦𝑦 = 19  

 
 
 
 
Solution: _________  

5. 𝑦𝑦 = 1
3
𝑥𝑥 − 5

2𝑥𝑥 + 𝑦𝑦 = 2
 

 
 
 
 
Solution: _________ 

 

6. −3𝑥𝑥 + 7𝑦𝑦 = −16
−9𝑥𝑥 + 5𝑦𝑦 = 16  

 
 
 
 
Solution: _________ 

 

7. 2𝑥𝑥 + 3𝑦𝑦 = −12
−𝑥𝑥 − 3𝑦𝑦 = 18  

 
 
 
Solution: _________ 

 

8. 
𝑦𝑦 = 3

5
𝑥𝑥

𝑦𝑦 = −2
5
𝑥𝑥 + 5

 

 
 
Solution: _________ 

 

9. 3𝑥𝑥 + 2𝑦𝑦 = 4
8𝑥𝑥 − 3𝑦𝑦 = −6 

 
 
 
 
Solution: _________ 
  

10. 
𝑦𝑦 = −1

7
𝑥𝑥 − 2

𝑦𝑦 = −2
7
𝑥𝑥 − 2

 

 
 
 
Solution: _________ 
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 Systems of Equations Christmas Tree Activity—Answer Key 

Directions: Solve each system of inequalities below using any method of your choice.  Then, find 
the solution on the Christmas tree.  Cut and paste the appropriate ornament over the solution.  
Color your ornaments and tree when you are done!  Show your work on a separate sheet of 
paper. 

System of Equations Ornament System of Equations Ornament 

1.  𝑦𝑦 = 1
3
𝑥𝑥 − 4 

𝑦𝑦 = −6
 

 
 
 
Solution: (−6,−6) 

 

2. 
𝑦𝑦 = −4𝑥𝑥 + 15
𝑦𝑦 = −7

2
𝑥𝑥 + 12 

 
 
 
Solution: (6,−9) 

 

3. 2𝑥𝑥 + 𝑦𝑦 = 20
6𝑥𝑥 − 5𝑦𝑦 = 12 

 
 
 
 
Solution: (7, 6) 

 

4. −3𝑥𝑥 − 8𝑦𝑦 = 20
−5𝑥𝑥 + 𝑦𝑦 = 19  

 
 
 
 
Solution: (−4,−1)  

5. 𝑦𝑦 = 1
3
𝑥𝑥 − 5

2𝑥𝑥 + 𝑦𝑦 = 2
 

 
 
 
Solution: (3,−4) 

 

6. −3𝑥𝑥 + 7𝑦𝑦 = −16
−9𝑥𝑥 + 5𝑦𝑦 = 16  

 
 
 
Solution: (−4,−4) 

 

7. 2𝑥𝑥 + 3𝑦𝑦 = −12
−𝑥𝑥 − 3𝑦𝑦 = 18  

 
 
 
Solution: (6,−8) 

 

8. 
𝑦𝑦 = 3

5
𝑥𝑥

𝑦𝑦 = −2
5
𝑥𝑥 + 5

 

 
 
Solution: (5, 3) 

 

9. 3𝑥𝑥 + 2𝑦𝑦 = 4
8𝑥𝑥 − 3𝑦𝑦 = −6 

 
 
 
Solution: (0,2) 
 

 

10. 
𝑦𝑦 = −1

7
𝑥𝑥 − 2

𝑦𝑦 = −2
7
𝑥𝑥 − 2

 

 
 
 
Solution: (0,−2) 
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Please feel free to contact me with quesƟons or issues concerning your product at char-

loƩe.james615@gmail.com.  I strive to make sure your product meets high standards and 

welcome construcƟve feedback as I conƟnue to increase my product offerings.   

For more products, teaching Ɵps and ideas, and freebies, visit my store at: 

hƩps://funrithmeƟc.com/ 

Copyright Policy:  

Use of this product is intended for classroom or personal use only by the individual purchas-

er.  If you wish to share this product with your colleagues, please purchase an addiƟonal li-

cense from my store on TpT.  Images: All images are my personal creaƟve works (unless oth-

erwise noted) and are subject to copyright.  Thank you for abiding by these terms and con-

diƟons of use.   
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